
Приём письменного 
деления 

многозначных чисел 
на однозначное число.



Алгоритм  действий.
 1. Найти первое неполное 

делимое.
 2.  Определить число цифр в 

частном.
 3.  Найти цифры в каждом 

разряде частного.



5

неполное 
делимое

●

0 06.75 9
●

Письменные приёмы 
деления:

● ● ● ●



5  56900
1 ● ● ● ●●

−5
2

Остаток 2 
меньше 
делителя 
5.

●

Письменные приёмы 
деления:

7



5756900
1 ● ● ● ●●

−

52
3− 05

6

0

9

− 25

5

40

15 8

15
40

−
1

Если новым 
неполным 
делимым 
является 0, то 
его 
переписываем в 
частное.

Письменные приёмы 
деления:

●
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1. Неполное 
делимое …
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2. Остаток 
меньше 
делителя 945
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3. Если новым 
неполным 
делимым является 
0, то его 
переписываем в 
частное.



    I вариант               
 8984 : 8 =             
 907•9-852:3=          
 8• (739+564)=      

      II вариант

  93865 : 2 =  
  840•6-795:3= 
  9•(1010-235)= 

Самостоятельная  работа.
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Проверь себя


